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Note: (a) All questions are compulsory.

(b) Marks are indicated against each question in square brackets.

solving problems i*’ &

1. Use Newton Raphson method to obtain a root of f(x) = x3 + 242 10x — 20 = 0. Write
answer up to third iteration, and correct to three decimal plac%s. Ta = 1.2. [CO1] [5}
2. Solve the following system of linear equations by Ga %}%ﬁation method:

2x +y+z =10, 3x+2y+32=18,x+4y+2éz&‘;]§2§‘ [CO2] [5]

3. Use Jacobi method to find eigenvalues and corf Q@h@in‘g eigenvectors of following matrix:
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4. Using Newton’s forward interp l riula obtain £/ (1) from following data;  [CO4] [S]
x 0 R o= 14 1.6 1.8 2.0
f(x) 0. | Q428 0.544 1.296 2432 4,000
£ o

5. A river is 80 fe _Tgwia' . The depth y in feet at a distance x feet from one bank is given in table.
ide, The de
Find the are%@ {ossj;éction fo y dx of the river using Simpson’s one third rule. [CO5] [5]
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- Giging Picard’s method solve (up to second iferation) the Initial value problem y’ = x¢ + y?,
6%%} d’s method solve ( d ) the Tnitial value problem y’ = x2 + 2
y(0) & 1. Also, compute y(1). - " [CO6] [5T
7. Using Euler’s method approximate the solution of y' = xy + x + y, y(0) = 1 atx = 0.1 by
taking step size 0.025. [CO6] 5]
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